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1 Simplity 4 - 2(b - a)~ L. iy

ANSWELS covecersnsrsnranasssmasstisnsisssi st snisissssn [2]

2 Evalua.m (‘ 8])3.

ANSWEEE it iimnnsissivigss i [2]
3 Factorise completely 32¢% - 50.
ATISWETS vovvevreemseesesasasessesissassiessnsasssnssasssnsss? [2]
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Find the gradient of 5 line w

hich passes through (- 5, 3) and (-4, 1).

Examiner's

ANSWREE s iivinavssnosvivmsteiamnsssiesssss ivnsssassisse (2]
The Venn diagram below shows three sets A,Band C.
E
B
C
Use set notation to describe the shaded region.
ATSWELS isisimssisissamivmesiviisnsissssssssisseivisions [2]
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6 The vector PQ = [:'

point Q.

3 y .
). Given that the point P is (1, 4), find the coordinates of the

ANSWEES usvinsvvsmicssivesssmsssvesissssssivasivasensiss (2]
: 2 -1 1 0-4
7 GiventhatR = and S = s
1 3 -2 1 1
find
(@ s,
(b)  RS.
ANSWEr:  (A) e m
(D) e [2]
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For the sequence -0, 7 -4
(@ 17" term, '
(b)  sumofthe first 20 terms

ANSWEr: (). .iociisisisssvmssosmonsivsasasse (1]

(a) T.hef.C are 4 blue and 5 white marbles in a bag. What is the probability of randomly
picking a white marble?

(b)  Solve the equation 2x* + 5y — 3 = .

ANSWEr:  (2) oo M

Mathematics/4024/1/2019 [Turn over
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10 (1) GiventhatE={0,1,2,3,4,56,7.8,9},A={2,3,6,8} andB={3,6,7,9},
list (A N B)".

(b)  The diagram below shows a prism, with a base that is a regular hexagon.

How many planes of symmetry does it have?

ARSWEE:  (8) cusamasanmannisnss

Mathematics/4024/1/2019
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e diagram bde ; H ’
1 T g ow SllOWS pomt_A(ﬁOoN’ 30°W), B(}UDS 3OOWJ and C(30°S 75°E) E,m:?ncr‘s

use

(@) Ifthelocal time at B is 15 00, what i the local time at C?
(b)  Ittakes aplane 6 hours to fly from A to B. What is its speed in knots?

ATSWEE:  (A)  covcrnrinmrnnssemssccmsnssrassmnnsesacss 1

Mathematics/4024/1/2019 [Tumn over
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12 (@) Evaluae 3" x 30+ 3
() The diagram below shows a seetor of a circle with centre O and radius 4.2 cm.
Angle AOB = 0. A
0
4.2
" 22
Given that the area of the sector AOB is 9.24 cm?, find the value of 6. [n= 7]
ANSWEL:  (2) e [2]
(D) vvrecurenscnssassaseassussnasssanansssssss [2]
13 (a) The mass, m, of a block of wood is 876.4 g, correct to 1 decimal place. Complete
the statement in the answer space below.
(b)  The length of a piece of wire is 15.2 cm, correct to 1 decimal place. What is the

relative error of the length of the piece of wire?

Answer:  (a) ............ SEME .eivrnrssnass [2]
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4 The diagram below shows Mr Mo da’s tri . For
1 He then decides to continue with hc,: l:i: :_:Ll’n-nll“:; travels ona bcnrm% of 141° from A to B. .am,:!.:f. '
The angle BCA = 35°, on a bearing of 255° to C.
N
D
'T
I 550
Find the bearing of
(a) A from B,
(h) A from C.
ANSwer:  (2) [2]
(D) e (2]
. Ix-5 _.
15 The functions fand g are defined as f(x) = 2x + 1 and g(x) = — Find
@ ),
(b)  fg(x),
()  fg(4)
Answer:  (2) e [1]
(D) i (2]
() J OO [1]
[Turn over
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16 In the diagram below, A, B, C, D and E are points on the circumference of the circle with

centre O. DE = AD, ACB = 20° and AOE = 80°

20°

\B

E
Find
(@  ADE,
(h  DAE,
()  BAD.

ARSWEL: () o [1]
() . (1
(€) e [2]

Mathematica/4024/1/2019
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(2)

(b)
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A point R(=3, 1) is mapped onto

a point S(2, ~1) by a translation T. Express T as a
column vector,

In the answer Space below {5 gn incomplete program written in pseudocode, for

Cﬂk':lllatmg‘ihc mean (m) of 10 numbers whose sum is S. Complete the program by
filling in the blank Spaces with appropriate statements.

Answer: (B) crveermscomsonmsimarmassessesis s om v senmserer [2]
(b) Start
Enter ot snsnansessn e
T riiiesassencanserinsisensnnrronssnrerrassrnsnnssnvs
Output m
Stop (2]
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For
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18 Given that » varies dircetly ns x and inversely as the square of z, and that y = 10 when . T
x=32andz =4,
find
(2)  the value of &, the constant of variation,
M rwhenv=20andz =35,
(c) zwhenx=9and y=S5.
Answer:  (2) A= m
(1) I i s (1
(@) Z= auvsasvsinvenes OF S wiwomsins [2]
19 (a) A company’s working capital consists of 450 10% preference shares of K50.00
each and 700 ordinary shares of K10.00 cach. After 6 months, the company
declared a dividend of K5 750.00. How much dividend will be paid to each
ordinary shareholder?
(b)  The ratio of the volumes of two similar solids is 64:27. The surface area of the
smaller solid is 180 cm?®. What is the surface area of the bigger solid?
ADSWEE:  (8)  iiscsiiiisinsiocomsonennassmmmsassasssensis [2]
() L — 2]

Mathematics/4024/1/2019
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.+ The diagra b hoy
20 (ﬂ) g m c'O\N ShO\N‘ 4 X s _ K M - ]500 Examiner’s
and its area fs 5 o S triangle KLM in which KL = 16 cm, angle KL e

K

16em

M

L

Calculate the length of L.

(b) The equation of line A g 3x+2y

= 10. Line B is parallel to line A and passes
through the point (4, 6). Find the

equation of the line B.

Answer:  (2) o (2]

Mathematics/4024/1/2019 [Turn over
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22 (1)  Find the integral ofi = 5k 4
2 o}

with respect o x.

N

(b)  Afunction p=(] +y) (xv-2).

@) Sketeh the graph of the function in the answer space below.

(i1) Find the minimum value of v,

Page 15 of 16
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Answer:  (a) [2]
(b)y () A
i >
(2]
(M), sesmnsmmimsmsisesesens [2]
[Turn over
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23 The diagram below shows a speed time graph of an object. It starts from rest and tse
accelerates uniformly for 2 seconds until it reaches a speed of 10m/s. It moves at this
constant speed for 6 seconds then accelerates until it reaches a speed of V m/s after 5
scconds. Finally it retards for the next 8 seconds until it comes to a halt.

~

Speed 1
(wvs)

\Y%

== !
0 2 3 13 21 ~ Time (s)

Calculate the
(a) acceleration during the first 2 seconds,
(b)  value of V if the retardation in the last 8 seconds is 3 m/s?,

(©) average speed for the whole journey.

ANSWEr: (@) . sesmeniasmomsemsrsnensnsnrsnssas [1]
(D) cocsossersenmmummmerersitonssasiisisniins [2]
Q) soreriommmssiiisisgEsesEiss oS [3]
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